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Set
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Collection €I

141 « Collection QIE{HO|AL| HAE=

HACS A

boolean isEmpty()

boolean contains(Object obj) = marElT ojom iy
boolean containsAll(Collection<?> c¢) ObjE Zorl ASH true 2

boolean add(E element)
boolean addAll(Collection<? extends E> from)

boolean remove(Object obj)

boolean removeAll(Collection<?> c)
boolean retainAll(Collection<?> c)
void clear()

Iterator<E> 1iterator()
Stream<E> stream() A i
Stream<E> parallelStream()

int size() KA O| TH4 Vit

Object[] toArray()
<T> T[] toArray(T[] a)




o HE(Set)2 a2 =5 olEotkl E=U

BUTTE '

e
Set 2 TES A} gD
- o = — o
W GEAPE S=2 oISt ts
MILK
~  BUTTE

APPLE



O HashSet

® HashSet2 dll4| HIOI=20 RAE H&EGH)| HEN d=sHUA
It 2==0tCH, otXIBF |AS2 =AIF LHGHA 22 =HH
Ol {UCt.
O TreeSet

® HE-22 EC|(red-black tree)lll FAZS HASHCH. WM CtA]
20 et =AMJF 23S0 oFX8F HashSet2Ct= =2|C}.

O LinkedHashSet
® oz HIO|=1 HZE 2|AEE &Z2E
MAZI/UEA =N 2 &L,

rot

o2 A



import java.util.*;
public class SetTest {
public static void main(String args[]) {

HashSet<String> set = new HashSet<String>();
set.add("Milk");
set.add("Bread");
set.add("Butter");
set.add("Cheese");
set.add("Ham");
set.add("Ham");
System.out.printin(set);

X

[Bread, Milk, Butter, Ham, Cheese]




import java.util.*;
public class FindDupplication {
public static void main(String[] args) {

Set<String> s = new HashSet<String>();

String[] sample = { "&0{", "s=2", "2 &", "S=" };

for (String a : sample)

if (!s.add(a))
System.out.printin("==% &= " + a);
System.out.printin(s.size() + " S X £ 2 S0 " +5);
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O sl.containsAll(s2) — 82k g2t s19] &2 &E0|H
Z0|CF.

O sl.addAl(s2) — s12 si1t s29| & &E oz BHEC,

O sl.retainAll(s2) — s1= s1t s29 WSO Z OtE
Ct.
O sl.removeAll(s2) — s1S s1t s29 X&eoZ OtE
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public class SetTest1 {
public static void main(String[] args) {

Set<String> s1 = new HashSet<String>();
Set<String> s2 = new HashSet<String>();
sl.add("A");
sl.add("B");
sl.add("C");
s2.add("A");
s2.add("D");
Set<String> union = new HashSet<String>(sl);
union.addAll(s2);
Set<String> intersection = new HashSet<String>(s1);
intersection.retainAll(s2);

System.out.printin("& & & " + union);
System.out.printin(" W & & " + intersection);
by
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O ArrayListE HHE (A
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O ArraylListll A4
® ArrayList<String> list = new ArrayList<String>();

o & =D}

® list.add( "MILK" );
® list.add( "BREAD" );

® |ist.add( "BUTTE
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ArrayList<String> list = new ArrayList<String>();
list.add( "MILK" );

list.add( "BREAD" );

list.add( "BUTTER" );

list.add( 1, "APPLE" ); // QI=!A 10fl "APPLE"S & &

list.set( 2, "GRAPE" ); // @Il A 29| A A E "GRAPE"Z HX

list.remove( 3 ); // QIEA 39| 2AAE ALHIEHCY,

ArrayList 24Xl
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import java.util.*;
public class LinkedListTest {
public static void main(String args[]) {
LinkedList<String> list = new LinkedList<String>();
list.add("MILK");
list.add("BREAD");
list.add("BUTTER");
list.add(1, "APPLE"); // @I=A 10| "APPLE"S & &
list.set(2, "GRAPE"); // @IHA 29| 1A E "GRAPE"Z CHA|
list.remove(3); /] QIEIA 30| QIAE AbE|SICE,
for (inti = 0; i < list.size(); i++)
System.out.printin(list.get(i));




ArrayList<String> list = new ArrayList<String>();
list.add("StLt );

list.add("E “);

list.add("A! “);

list.add("4! “);

String s;

Iterator e = list.iterator();

while(e.hasNext())

{
s = (String)e.next(); // Bt=Xt= Object Et2 = Bt
System.out.printin(s);

by

MILK

APPLE

GRAPE




O List<String> list = Arrays.asList(new
Stringlsizel);
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import java.util.*;
public class QueueTest {
public static void main(String[] args) throws InterruptedException {
int time = 10;
Queue<Integer> queue = new LinkedList<Integer>();
for (inti =time; i >=0; i--)
queue.add(i);
while (Iqueue.isEmpty()) {
System. out.print(queue.remove()+" ");
Thread.sleep(1000); // 82 AHES 1x2F X

A

H0

Ct.

109876543210




|_
.
| I (heap) 2t 2

a <4X B

J 751 e
mE ™ mE oo
OFD O OF <
A:Momé:i
W= O
OF U ol OF &I
o o




import java.util.*;

public class PriorityQueueTest {
public static void main(String[] args) {
PriorityQueue<Integer> pq = new PriorityQueue<Integer>();
pg.add(30);
pqg.add(80);
pg.add(20);

for (Integer o : pq)
System.out.printin(o);

System.out.printin("& & AHH|™);

while (!pg.isEmpty())
System.out.printin(pg.remove());

}
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import java.util.*;

class Student {
int number;
String name;

public Student(int number, String name) {
this.number = number;
this.name = name;

public String toString() {
return name;




public class MapTest {

public static void main(String[] args) {
Map<String, Student> st = new HashMap<String, Student>();

st.put("20090001", new Student(20090001, "= x"));
st.put("20090002", new Student(20090002, "= & C["));
st.put("20090003", new Student(20090003, "Z Xl ="));

o

2 =2 £t

System.out.println(st);

/ otLtS et== AtHIEHL

st.remove("20090002");

/otLte] gt== X/ 5L

st.put("20090003", new Student(20090003, "2 0/&"));

/ atE ELEHCL

System.out.println(st.get("20090003"));

/2E g== BE25HL

for (Map.Entry<String, Student> s : st.entrySet()) {
String key = s.getKey();
Student value = s.getValue();
System.out.printin("key="+ key + ", value="+ value);




{20090001=2=H, 20090002=22&C|, 20090003=&XIZ}
A0l H

key=20090001, value=/t&X

key=20090003, value=20|H&




O Collections A= 2 K8t 2dess alst
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o & (Sorting)
o 4 J1(Shuffling)

O EM(Searching)
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import java.util.*;

public class Sort {
public static void main(String[] args) {
String[] sample = { "i", "walk", "the", "line" };
List<String> list = Arrays.asList(sample);
Collections.sort(list);
System.out.printin(list);

[ HEE B[AEZ HE
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import java.util.*;

public class Search {
public static void main(String[] args) {
int key = 50;
List<Integer> list = new ArrayList<Integer>();
for (inti=0;1i<100; i++)
list.add(i);
int index = Collections.binarySearch(list,key);
System.out.printin("E2<2 vFE G =" + index);

ErM40] BHEIZE =50
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import java.util.*;

public class EnglishDic {
public static void main(String[] args) {
Map<String, String> st = new HashMap<String, String>();

st.put("map", "X| £");
St.put(“java", ||II_HI_");
st.put("SChOOIH, ll'o:!.-l—ll_ll);

Scanner sc = new Scanner(System.in);
do {
System.out.print("E 0| TtH{E AUSIA|2:");
String key = sc.next();
if( key.equals("quit"”) ) break;
System.out.printin("Tt0{2| 2|0|= " + st.get(key));
} while(true);




